Chapter 4 Task B Solution

a)  
Consider ∆OAB and ∆ADB.


(OAC = (OBA = 90º      


(OAB + (BAD = 90°


(OAB + (AOB = 90°


then, (AOB = (BAD = θ

Thus, ΔOAB is similar to ΔADB   (two corresponding pairs of angles are equal)
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b) 
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∆AOB, ∆DAB, ∆OFA, ∆DFO, and ∆DOA are all similar.
Use these similar triangles to substitute equivalent ratios.
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c) 
When using the unit circle, sine is one leg of the right triangle formed by the given point. Cosine is the other leg of the right triangle.

d) 
In ∆OFD, secant and cosecant are two legs of the right triangle.
In ∆OFD, the sum of tangent and cotangent is the hypotenuse of the right triangle.
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